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Liquid helium can reduce the temperaturs of the cuil in MRI eguipment to gratmd

(&) 40K GF 4K
) 2’?35 Dy 00

Sra: aliddunn, args gbfaosa lﬁlbummé&é} smeiluildr sonbice Do fiemeeni:
k) @angk Gsdnb,

A} 4K B 4K

T 2K @My o0

A fuse wire is made of 37% lead and 63% tin
4 fune wire is made of 63% lead ard 87% tin
A fuse wire has low resistance and high meiting point
1, 4 are es=rect statements {B) 2, 3 are correct statements
W 1, 3 are correst statements (M) 2. 4 are corvect statements

w sipssfiés siiuimes ﬁ.ﬁmﬁwwg#}mmc 7
‘s B& seadciid 37% b, 63X b e drerg)

2 rgmlh w198 @ 63% aunflud, § 7% Frsth n.mg
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Which of the following sxeretery produtts are sent out 88 urine by kidneys in humanbeig—y?
(%) Hacess water and eslt

ol g Bpfiraih erwors ApBil GeirtSums sfiar Gurm s wiraa?
(A)  osflmores i whgih e st

B s ~agyssa, B seilungd

€ whur wits sulaih, Efuryefid

D) ysadiger wipd sifis ariLe- e s b

@  Buerumrggr

)  BurSECasruwe
(i) i pank

iv)  FaCanGar o Gemains, L
(A G, O whgs Gy (BY (i), (£ s ()
© 6 wpp v M %) eiGon




6l  Green Bevolution increases the food graine produsiion in

M Hive and wheat

- (B)  Wheat and oil seeds

() Kice and oil seeds
(D} Rice and sugarcane

igeon | (g Aerd sliliums @ﬁ.@m& & gmey e-pUSSitles B igdmb el s
C A of8, Gamgrans

By Camgionis, ool efsgssen

€ il opps eentend aiggsmdr

@  aff, sEoy

7.  Two taps can fill 2 tank in 30 minutes and 40 minutes. Another tap can empty it ir
24 minutes. If the tank is empty and all the thres taps are kept open, in how much time the
tank will be filled?

(&)  {hour (3 2hour @ iibour

5 1 hour

SO Spn ssu Bm sunisd sefigsefiCu apaplu 30 Gbl duwer, 40 (i isafid: B Ramp.
wh@more eml 5 Bnbdu i@pn_lq.ﬁm 24 Fullsumailds @nell iy, Gl srdwits Bobs
Boapdp swnisEsh @y fuugfe Sppy L IulLTE, S@Edagrie. agseen .ﬁaﬂmmﬁé
B b7

(&) 5wl B 2wehl € 1lwefd D} 1 wefl

8. 40% of 1640 + 7 = 36% of 980 + L60% of 880
w7 082 (B 692 © 926 o)

0%+ ? = 980 [gen 36% + aﬁﬂ@m 150%
@ 692 (C) 926 @) 629



8. Which artide of e constitution grante rights to misorities fo establish eﬁmﬁmgl
inatituions?

Ay 40

{© 50 LEV I

TS s l_l.n.ﬂuﬁm &ﬂ@uﬂﬁﬂmmﬁmm B s mismsn ﬁ@mﬁa@m&ﬂmw&aﬁmw;
4y - 40 @ 30 {€) 5o D) a0

10. .

@ 950

arshradr 20, 26, 40 wppud 76 < amuGib BlatEORL Erag Gods el
(A} 9800 By 3000 € 9800 My 854G

1,

% =Rey=12 (B =2=8»=8 ) x=18;%=5 M x=12:4=12

«ﬁ@;q:mmm&mm %—i=§

(W) x=Biy=12 (@) =x=Biy=b (O ¥=1Zip-5 (D) r=i2y=12

12.  Insviilage of 1,21,00C peopls, the rafio of men to women is §:5. The number of men
(4) 38,000 7 66,000 (@) 86,000 (& 45000

RO Srmogde wasbsTas 171,000, W Ausmrzsficr fdsb 65 awfld éﬁ@w o drel
yarsatiar smreflfas

@ 33,000 @ 66,000 © o500 @) 44,000

18, LOM. of a* o™ e forall keN is
@ s ® o €y ot /sm

ks N gk Gungs o o™ o™ g Bueipfiss =
7 e @ o @ & @ o
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1@ Find out the wrong number in the sequence

15.

18.

17.

18,

156, 268, 182, 208
() 168

e 182 gy 208

156, 168, 152, 208 sdr A SUmmBsns saer :
&) 166 B 168 () 182 @) 208

Find the next nyumber in the following serias :

" B, 10,13, 26, 29

" .58 B 37 () 52 @) 68

esaignih Agm s 2RSS 65 erdineosT strers,
G, 10, 13, 26, 29 :
(A) 68 @) 82 © 52 W) &8

The produst of three number with the ratio 2:2:3 ia 760 then the sum of their squares is

y 350 ®) ) 450 (D) 400

e oavselier Qumdsd Ggras TE0 sasefid Bfpn 1:2:3 el ondiClesienmafier
auivisdaaiidn & Qg

(A) 350 ®) 600 © 450 @) 400

The tertal sarface srea of o aolid hemisphere of & dismeber 2 om is equel w0
() 1Zom? _ B) 12r cm? :

5 =.aﬁ. GAICs I 2 Goal erafiss upeh: Ghamdes Lu ey
@A) 12 Gsit’ ®) 12x Qs
© 4z Gaat® @) 3= Gail’

The radive snd height of cylinder and cofis are syual. If the volume of cylinder is 120 cm?,
then the volume of cone is
(A 90 em® 7 40cmd () 30 emé @ 100em?

R mq OEph ¢ .@ﬁ?ﬁ’ﬂﬁm uged e wpasd aempBu sk ¢ e se e 120 e 1.
arefier suiniieh Se SeTay :
Ay 90Qs8 @) 40 Qus® () 30des” @) 100Gs2
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19. The Prosident of India is elected indirectly by an clectoral rollege. Which of the follo¥_hg
members are not included in electoral colloge?

(A) -Elected members of Lok Sabhs

(B) _Blacted members of Rejya Sabbs.

M Elected members of Assemblios in Union Tereitories
@)  Klected members of State Asssmblics

' @i meagsE mﬁmnﬁr N MHEOEIBTE %&mwﬁﬁ‘r @up el GeipdasRifelpne. Gata
@l Semims b e O arasr s HandrsPhme
(A)  CppAsHEsd W nissme Ly llamisd
B CpipbpBs L byflonweras g huds
(@ Gaig

ashasind L el Slse i 1 Guysms o i ndlanrisd
M) CapleGascu . wigie el Gigee o gz

20, Match the following ©
() Lok Sabha

() Rajya Sabha

(¢} Vice Prosident

(@) President of Panchayat

=

35 yoars .
‘21 yoars
30 yoars

&g

()

=

=
R
= e 23 &
Gﬁ.MHuh@

L. 306 augd
®F  wrflekserana 2. | 25 ib
4. 2eamos
A 30 erggeib

e B e



21,

in . .
(4 10 B 20

© 90 | A 6o

* A can complste 2 pert of 2 work in. 20 days. A can complete remsining 2 part of the work

A gaah G Gamauis i‘ ugBens 20 prisafis Gadig qpelond: <ip Gaseniar -%

5 fenun A @@ﬁl @hﬁﬁ& %ﬂh pmmsi“-;&r srameeiE
10 (B) 20
© 80 o e

Theelm;mmﬁt’ﬁamﬁgeahythemmmm&semmthemumxymf

(&) FEngand
()} France

B oo Qg pp5é
@) Gubaniy
€ Crosed

1987 appé 1968 iy Bpfureld gauys gawenns Ligel cllipal vri?
W - fim VV. 88

B) réd el g Sleossi

© 1w e, g dgsgend

M) Ly wﬂwt ilyamngs



Zd.  Which is the official langinge of Tndian f}wemmant‘? D
(4 English ; Hindi
(G Al Languagos ' {ﬁ) English and [Tindi

Sl yremriesbids gy Bumnd ag?

o

25,  In which amendment unity and integrit® of the nation hss Eneu added in the pr&amhle of
the Indisn Constitution?

-

ar;sﬁmmmg; SRR Smbgbfiar Uy, ph Gpdu S rfvieans IS apse i
“Birfurdle gigeee b Goemion” Gaiseiu L g7

W) Sag ssrfusenciy Sodeb

®  Bag.srfoseniy fekes

@ d6aug ézn;r@u..mm 1 Slmdsth

@) 42 ey syrPwseiol] Soigd

6. According to Dr. Ambedionr, which Artiele is “ihe heart and soul of the whols conatitution™?
) Article 24 (8 Article 29
M Article 3% (0§ Article 43

Dr. obGugsir saHsiCiung. s memncliae qﬁﬁ S " o viids Bgwapsy o limongb"T
A} - o824 S ® agsm
©@ gz | @y Ag42
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278 SpamL smty smd Connestivity (Hime sava) are the three olpectives of

() Natoval Highmeya

Gaumh, ‘m‘ﬂ&n‘jﬂ{ b Crs Sadliny arﬁmm@&ﬁm @mmxﬁﬂm Gmrsm_g
(A} el i smememsn

(O Guéu OpBidsmmsmesd:

O ke poger Spl Apibsameasd

-

28.  Match List I with List Il sorvectly and select your answer usiog the codes given below
| List 1  ListIl
() Characteristic of Land T
(h) Charactesistic of Labour prodaciive
C mabils
fixed, in supply

e B DY e

w1 g i mede T1 i dr sfunals Gurisss Spaedindr Bae gfiudGaste

m\*um e@w,_muﬁ Gy Qe

o gteds 11
G .a‘r.rr@mat@mﬁﬁ

’
3
4

4] @ﬁqﬁwmml il g ey

(o) © @ i B
1 2

R
&
4

= S




The Swaderhi steam ravigation onmpeny was launched

(8) G Svbramanve Iyer

€ K Ksmarsj

i /] . 'I.&y
(M) Rujaj

wCpf yrel &0k sHQUSTsmw Sem Biduei

(82 @ slyneaflus stk
(. Kenorg

Matoh the following A with B ©

A

(a) Bwarsj party
) Dandi Mesch
(¢} Poona Pact
(@) Gandhi Iewin Pact

N

() supru s s

M) sy ey

& weor eluhEd

@ smpf @il glhippis
5 L

(B)
©
(@)

@

€2 49 =

o BN B

L

~ W

(B) ae. fgdigd

1532
1981

1923

1330

1952
1981
1923
1930



“

Which indwstry i calied mothoer industry?
(4) Textile adustry B Cotton industry
£ Irom and Steel industry ' (D) Bugar industry

s G arer S pbaLL B DT ‘
(A} GpeagQenfia @ Loss Gande
© By e Gsms M}  sriacons Gpmfe

Agrisulture production mesns
(A4} National total produrtion of agrieuliure
7 The ratio betweon inpul snd output

'(@; The addition of input and cutput

(D)  All states ard union territorics total production

Couanmalenio o hugH ardn 15

(&) priwe Qongs Saandr o fugl

B)  wdaeld, Quafd’ G varer s

(D) ey e aralD, Daef SQuafe mbad

{9)] | simas onfle, wefiud Grisehssice Ginrgs e Huisl

(A Lackof a@aquaﬁe asving

! Lack of adequate education
Lack of sdequate health
* Lack of adeguats ineome

STiESaD eTan I

(A)  Gurgower Caliinfrrams
() E?u-:mw;sem.mﬁaﬂémm
() @u)mgmm w1 @ganidnas
@) Cungusre: eigmorenferis

18






sl ‘Tohsnesburg 2002 United Natione’ Conference was on

37.

(4}  Befitwere development
B 'Tremsport developmient
& Community development
7" Bustainable development

b AR mﬁﬂ?ﬂ@?@d& 3%&%@54%%&& B a8 ger Cpnasin

(A) '@mwﬁum@ﬁ ConbLim(h
@)  Quragsingg S
(©) - snps Gobundy

D) Guens seds Codunp

Tndian radio broad easting, which was started?

© 1947 @ 1827

BEpw aurGenmell Coman ailLngy s San bl L L g7
(A) 1927 (B) 1987
Cy 1947 ” ) 1827

{A) 34.5 grame per kilogram
M 36 grame per kilogram
(D) 16 grama per kilogram

Grghsussatisn suwal eanSuge semeumeng
(A)  34.5 8y [ Geor Bymd

@ 35 8gmd /| SCaw Byt

(C  3&gmd ) S0 Aprd

@) 16 &ymb | BCeur Slgmis

"

15
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Ligt T |

Humsn righta day
Common wealth day

U.N. Day

Internationsl day of pesce

() 24% Qstober
() 24%Msy
(@) 21= Beplember

T

e
mamﬁ.@

ulmus L RN 4
(&) SdG i 24 walls o feowsdr fend .
@ wabuFi0 snofGedd fah
(@ Gn24 & pr b
(@ Qetuibur2l Fialps senof deach

LR

(&)

2
;8
: 8
@ 4

~
OB WA
m&mﬁ@

40.  Polyspermy i aveided
(A}  Pollicular membrane ® Gmamm!mta
i i o ar penpag Sl g pepsieg—— - sBkdmE.
A fundigent s @  sGomen Gnusa

TGS/16 . 16



AL, D an accidont & person suffered & serious head iojnry. What immediate investigative
method the doctor might praseribe io assess the dgmage?
A) WBC count
(B  Urine analyzis
27 CT scan

Biopay

Bupfients g abgaa paeila puBim guipte STUEEHE AniuiLGE oo
E&banre cpenp ag? '

(A)  Oeusrenengibadr a5 SNy
@ Ayl Copener -

€@  mbigs s GuaGwrdiymi Gaiiprmnd s
@) elifs Gprig Genpens

@ P Gmbs cigd @Curftarid

m) ﬂfﬁﬁum; u@@h G [ = s =

” AN TGSAE



48.  Which one of the following is incoreset?

{a}
(o))
(@

(a

(A

ﬂm:xm- Energy Rescarch Institute is loegted et Bombay.
Indian Btandards institute is located ut New Delh:
Consral Lenthor Resenxoh Tnstitute is located st Chennai.
Ceniral Drug Rosearch Instituts is located at Ha

. (b} is mot eorreek . (B) (a) is not correct

@7 (@ inmot correct @) () i mot corruct

Seraspliaraigysr sy geup?

(a)
@)
- @

@

&

©

@Y DS TR Gaaurh ooabmLaiid e Stang).

BEdu ﬁq;ﬁmmmh L S el iaminiat @umwr@

g Ggmes WA&E&! enLiIE @sdneosarilics & Aang).

v mHE mleR spwib Biuksesfe Wil Gltghueirergy
() 1ot G Sougy (B} (&) b geumy
(@) s g | @ @ el e

4&; .MMMMMMWM%EMWGEMMW

©
@)
@
(B)

&
(@)

TGS/s

@m OV e T T T,

scusl fo temmgl P Bine l‘,y

ﬁ greatar thas terminal velocity
Iasnt ik terminal volopite

SEDGH gmﬁsﬁr&ﬂ@ ﬁm@ gmm@n@usrﬁ -aagaﬂ Serstonimb

aﬁla_-».»s@mub

e ﬁiﬂg@@qu
wrpiees meGuaimg ol Silab

i8



48. Jyrrange the following eloment in the order of their increasing atomic weight.
Na, C, AL P |
(A) O, AL Na P
€y Na C P Al

L

AQmeio_. geliprssansy sigy wosid oy afiesild aupgs.

Na, C, AL P

@A) C AL Ns, P ®) € Na,ALP
© Ne €GP A @) MNa, C,ALP

4.

I Acid solutions turn blus litmus paper red.
IL  Acid solutions does not conduet electricity.

W Acid furnishes TI" ione when dissalved iy water.
“Which of the statement(s) is/are correct?

_ Lonly @ land I
7 Land 1 @) Monly

L siflexk segsd fis ol aney grenar Sl s wirhgih.
I snfessmpsd Seemiass s fzng. g

HL  .sylleoh Fifldh smmu i ragg H Sl seRaT FELD.

Beoper &g eTane mﬂm
(A  Twign | &
iﬂ:p I m;h@ i m ‘ \J m] - Emr‘:—@ah

i 18 - Tesne
' [Turn over



47.  Which are the common methods invelved in the desalination of ocean water? a
{8y Solveni exb:actim and cryatallsation

(D) Fraciiena! dimﬂanm mdm d:&tﬂ‘iaﬁm

i fiflener, @W& [l @Wﬁm@nmm i Gurgieumsn Sedgpeopedt wneme?
(A} - [ &

©

(&) Borar iowe:, . qyemankdlpris, Smasy arebremnis tpguh Genggc |
®) - aufis aipl undbleriSddr, gop s b umﬁﬂ@ﬁm

©  undly@pr i, Urdider stemerd

(@) L3900 ven_ufeh, w@MCamesplsoréd

i nllowing is the hardest substanee in our body?
S / Enamel couting of tmth (B) Bonep
(C} Tongue 2 (0} Brain

Spaameir el ping 2 L1bilid svewliGE ek sigsmnomes 5oy g
Al upsalid o drer eremod erdvgb ut e B)  erguiijmer
© prig 2 (D) opewer

TGS/16 2 ' o'



50, - Lrhich one of e Sollowing citins i “First Caspuration of Indis™?
(A}  Delhi (New Delhi) @) Calowtts (Bolkotia) .
(@  Bombhy Mumbai) % Madrus (Chennai)

Epaarggb parisaii g “Ehlurelsdn pad open fiud srin Greger!

(A Guddi(ugy soe) | B) sdegpr(AerdGangsr)
@  wibemd (e} M)y opgrel [Hedissas)

5L.

ko '@ © e By e 6 1006 wtor Wit damatvosd wubitams.
Selpct your answer scnording to the coding scheme given below.

(C) &Mie't;mafzm&'{g) is false -

@ W iafﬁlsabm-m}'ia true

& psan.. avrdElunssaman seusl.

s () : wellger pae ﬁz_gﬁ

srpann (R)  © plogie L T0% B ngpd Sifid seorigiernss um@mgg GunEaeTirsd e,
sfimer eflenismiif CoMEAEE.

(A (A wppd () o, RY ardng A)-ebipeg efivimes dilarbe

B) (A wig (B) ol wpps (B) srdnag (8)-alipg sflinen eflardst s

©) (A ofi guome () pougy

@ (A pup e (B) o

52.  Which ons of tha following test is used fo identify AIDST
Y7 ELISATest , B) APBTost -
(@) BCG Tout rooning T

AIDS Qnrmm il uiru@_s apiliay n.mﬁ‘?
(A) erevaien i y ) APB gyl
(€ ECGqpbe @)  HeopPh i

o 21 TGS/



68,  Which system s sdapted to elsct the President of India?

(4) Oane Man Ope Vite
®)  Plarel Votisg
ﬁ Secret Ballot

() @pim Haliot

BpBumeilas ¢5ig 05 paowemyd SHTHASGES sihssur bl qpenp sosuimens @@m@g :

A enpIsss e uTES
(B) udmbuTES

(&) el eumkes

a - ﬁs—:@ﬂlﬁumn:.mﬁm@m%

64. Bupreme Court Jadgea mm,m al the age of

W e g7 e © s

e e Blwdnp BEUSmdr gl Guigni s
(A 62 @ 65 @ 58

85.  Where is situsted the Indian Elsction Commission?
CA) Mumbal )

BB Caipds ayenesih i
@ e @) Godrwen

(A B30

L AR wmmngﬂ&m&sﬁ? Campils Hiks
(A 530 (B 238 (Cr 646

TGS/I1e : 22
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(D)

(D)

Ganbegsr
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57.

89,

@‘5&%@&‘{2 - #)=80% of (x-+y) then what perecnt of x s ¥
A 20% B 24% ﬁfﬁ&% S 23%

() i BO%R = (-4 ) 61 SO aredis -G 5 spellipsd
Ay  20% B) 24% (5 25%

“Swachh Bharath” by Prime Minister Narondrs Modi?
(A Burys (8 Vishwanathen Avaud

glisow @pBor H slpsns sihe MO Grepst Srpot pOrsfr Cengurd Buadds o Gemmt?
(A @iy ; (B) ahisvsusmmdn e :

Which one of the folowing mfm:‘a wﬂmﬂy matched?
() 9% August - Eu’os}nma&ay

only () is chrrect

both (i) and (i} are correct

_9"’ " noither (&) nor (i)

Mmmﬁmd‘r srgs v sflwire GGl eeng?
() Lpaeor 6 - prssnd emd

@  aebs - pbGmdlor e

A oG

@) () ol G ef
@ 6 epg )
D O opped G p—

23




60.  What will ba the differonce between aimple and compound intorest at 10% pex mm@m 1
sum of Rs. 1.000 after 4 years?

(A} He 32.10 ¥ Re.64.10 (@ Ra.66.20 ° () Ra 66.45
. 1000 siemang &@%ﬁ@ 10% w1l E5sH L EHihe e deridgnh aeflon y b,
&L s s e dan Geugn IiH weg ] _

A @R @) m 8410 © 8520 D) m. 65645

6l, A can do certain job in 12 days, Bm%%mmeﬁmmtthmﬁ.ﬁwmnydmdma
B slone take to do the same job?

(A) 8% days ® 61 duye © 93 days

@ Garmesmu A adust 18 prissfgel B aduent A-wue sn pgd 60% s Sanms Bar'ig
ppig e evallh B umh@.ﬂ eCanmarani) G g b DugHaTe mi s

(A) 83 piissr ' (B) 6} pmisdr © 93 prisd @D) Td pm’ mér

&

62. 'The pumber which is 16% lses thaz, 240 is

" a4 ® 206 (). 208 @) 206
240-m el 15% gempaes ey uengy
(4 204 By 206 (C) 203 @) 206

63. The eadii of two cones are in themm % :-1. their volumes are egual. Find t-herm of their
a) 1:8

ok 1:4 © 2:1 @ 4:1

sar (s sdt awrs. ¢ s oo m.mwm Afub 7 - 1 mieiifles o wpiisafin
Sdmh
& 1:8 ® 1:4 © 2:1 @ 4:1

4. 'The odd man out in the fllowing :
1144.1&2549&1,1@11,33,3@15 -,
@ 1 ® 4 © m # o

1, 144, 186, 25, 49, 81, 121, 36, 65 esn 1 Quimhpis areie
@ 1 . B) 48 (& 121 ) 65

TGS/16 24 . 0
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55, ' The value of Y82 < 27+ x 645" is

@ st 2 () 28e* @ 82

Yax® x 2747 ﬁ}‘_ﬂuﬁs‘ @ien afn )
@ 20s° M 24" © 28+ ) 82"

6+48- (642 (8- 2} p
@ 3 ® 5 % 7 o s

5+ {9-(8+2-(3-2))}
&) 3 @ 5 o 7 @y ¢

Amﬁmymm .mﬁ;t&%mmmmammm&m&tbe no. of yesrs
25 years . (B) 20yesars
(&) 30years (D) 16 years

' :@@@ﬁm';ﬁ% e 8% w5 il apamen genhastia apdrpy whiaTsinT

(ﬁ) 25 W@W ®) %W@m

(@) Social integration _ () Al the ahove

‘ mmummumerm oy (Sl i g B e 7

(A)  Guimgserigry g@@ﬁmﬂ@u | & B  2cfud gotiBaasrty
(0 seps pomlmaniy O} Beme sepenbgil

Tirst amendment to the fundaen
brought by

(A3 V.V, Subramsdniya Kyer

(€ Dr. Muthulskshmi

e sa B passl HF Gardemsilid 2yl e feods ped oL Amsgseos Gandn@
@Ifge I

(A ol oy Inoefi gusit (B) werguwr sTid

(@ 1wk apigelmd @)  vebneg meiniand Sy

’
26




0. I the populstion of a village is 50,000, 40% of them are mon, 20% of thom are ahil&m and
mematmwmen, Thsntbemherofw@mm-

" (©) 30,000 @) 40,000

sgmens 0,000, Qﬁm &G% Seirad 20% @igpw
Quﬁfmﬁ'ﬂﬂ&: QJmmﬂémrwmﬂm—

Ay 10,000 ®) 20,000 €y 30,000 D) 40,000

- ————

J:ﬂ +1 1 + 45+ vl&a-wé’;:ﬁ o0 =R

@ 8 ® 2 @ 3 M 2

72, The odd man out in the followi
i, 125, 8, 216, 1000, 243, 729, 100 is
(43 348 @) =L

1, 128, 8, 218, 1000, 244, 729, 100 wénp eifenand: Qurgyhsns s ,
A 343 @ 1 @ 00 @ 8

4y 9 @ 99 : 999 (D) 9999

P=9 Gl‘ﬂﬁd:?{fﬂ + 8P +3) & ol umemgl
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T4, -‘:Mamiwhe it 1l g T

(@) Parliamentury form of government:
(by Presidential form of government

- fg)  Collegizte form of government
(@) Distatorship form of government

UK 1

P go s

®w @ ® ) d

Ay 2 2
m 4 2
B 2 4 1
@ 1 2

e W =

Bhaigramrmifens bmddes -

(B) LTRSS (PSR B
() seowaul apeam SRS

(&) @GEeopRD STsITSD

@) srargenropap s

ol >l =

@ ® & @ 4 :

g

75,  Who appoints the state election ¢
(B) Iresident

(@ High Court Chisf Judge

i |

ek Gt ayeomurareny uisanb Geitiask
B)  @urymsE sawa

(©  orfie e |

M  amfle udigindp geonan fEud

i 2




76, (‘mmﬂettheﬁmﬁlmwmgaﬁammam
A secriios Vegislatine s the law making body of the atate,

It is wa;li amep%d thai the vight to make lowe should be vested only with
the representsiive of the p&ople This is one of the faatures @fdemmmy

.ﬂ_
Nt

(C)  (A)is true (B) is fulse
FH () and (3) are trme

Spsar wrsdlshswmer saai. :

appd) O Puigeys sl ek iBd o ogn.

sperd (R)  ©  ossemliidd, odpsecw  SfffsCer =i Bupmostsans
Emabprrad. G wisenm Auiien &m BT R

il ammvn& Cuinplesy.

A A wips () Gres@ib geprasoar

© A e enmevwreng (R) gaprens

@) A) wibgb (R) Sysiv (i o dwas

@mﬁsmmpﬁ P
O &1 ffanclf @) egpgd A8

78.  Ome of the ohjectives of Eleventh Five Year Plan is given below. Choose it correctly
(A) _ Toreduce the dropout rate in higher education
_ Ta reduce the dvopout =afe in primary schools or education
(@) Taredoce the dropont rate iv feacher education
(D) T'ﬂ‘rﬁdum the dropout rate in sscondnry edi
.l .':“ gavei f’; gfler Lalsip @ym%ma@ch m £k Qm@ﬂmua..@w.
T, b S 1) LI,
(A) & Juﬁ' mﬂh&@ @wgﬁmmm DS
Qgm_sss sodlbd B Hipea E®DEFE
(C} QTR @m:ﬂﬁmm @ EEH
C @ @efisas sddibe G fipes cepsse

TGS16 28 Eo




= . _ "
78. “Which sector is nob included in the cccupational puttern?

ﬁm‘b

()  Socondary Sector (D) Tertiury Sector

Ggmbident suens Giflena s g aET
(A)  gpgeemind geup @ pellori geap
(C)  @ren b geop I e geon

Which of the following journsl was not founded by Periver F.V.R.?
(A) FKudiarasu (B} Puratchi
€ Viduthalai 2 Swarsiva

Bemumassrsppd Guiiunt BEVR. Qgri disng L faams amT
&) . @rugs B ypd
€ siGmes @)y sugnfur

Find out the correct statement ;

M OV Damodarsm Pillai was author of The Tamil 1800 Years Age.

) Medras Dravidisn Associstion was started in 1912.

Gil) In 1917 the South Indian Libersl Federation waa formed.
(iv) Tamil Newspsper called Justice Supported the justice party.
() and (i) right (B) () sight

* (i) right (D) (i) right

s men Gerplipm sy seir_fa
@ 3
(i) Gedroar ol spah 1812 & gesaiuiLg

(i) b Qaerafif B apdiimes S L enndil) & QHRITESILICL g,

8t 8§

29

0 peirliaiEnis cpdr g Bpaib ey preve eapfiuel Sl grursyd Gdear.

() wipgd Gil) sfinrmeg) B () o G sfwresg
(2 wo b efuimengg (D) () ol Gk sfwmeng



Arrenge the events in chyonological order : : w

1. Chauri chaura mendent

2. Mints Morley reform

4  Dandi March %
4. Cancellation of Bengal partition
A 4821

EF 2,433

© 1284

@ %143

Pemaumib Fe A sser are m.a‘“mmuwm
Geanfl Qearyr Bupsd

ublier(3_r iomiell E9g8anbes

FRTIg L\LETL

ek Gflellaren $imb

CE N R

W 4321
® 2413
@ 1,234
@ 2143

Whon was changed the official name of the state from Madras to “l'smizhagsm
Tamizhsga Arasu™

(5 1967 April 16 @) 1968 April 14
(©) 1966 Apeil 16 @) 1966 April 15

Aednanen wrfiad erdnseg s s ydag S8 Esih ey & OuRg WEHEOU L LT
(A 1967 qiyd 16 . ' (By 1968, ggé 14
(G 196§, s 16 @) 1966, ¢ g 15
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aﬁb

Horapgss -

{a)
(b}
(e}
(&

®)
@

m}.

Nedirshak invaded India in
B 1737AD

o3 ssnggh

Ay e gl

it M emenen (i

s Gans enrgh

{a) (b}

S b i
S

&7 1B8AD

&8, 1739

LR O T

(B) &£48.1737

0w W o

ol I

Ll g e @05
BB el (R
GyrauruGo

Fum g Tersg efdnH

# o

(C) 1736 AD D) 1731AD

() £.9.1735 D) 4.4 1731

Paoint out the wrong etatement in the following °

)
&
@&
“)
@)

@
@
@
@
A)

Great Bath

Excevaiion

Wheel
Terracotia
1

Qumdgans

ESETID

QifynGam’yr

L

(B}

)

2

- Gdreymasihpdr goiprsm ifsenp

2

=

=

Mohenjo-Caro
1921

© 8 o

QoragyrarGen '

1821

B ERTLITERTL I |

Glerlns g s sy
a1




87.

Find out the WRONG answer from the Sollowing. :
(A) Rule of Shahiahan was known as the Golden Age of the Mughuls
(B} Shshjshan built Jumma Masjid with white marbles

(D) Poacnck throna was made by Shalijshsa

Hpwa_cip peiprer Lo (sanfifls) Seip0st
(A)  epgsrelid gl f srab gseruisaid Gurpsravt edpepdsiultipg

B  eprgard gOivorug e Qawer i sheend sy
(%)) p_r@mmnm w3y on i gonmidi

-

88, Bahmasi king Alauddic Bahman Shak was also called as

&4 Hassn Gungs
(3) Muhsmed Shah
(C)  Fires Shah
(@) Valishah

umélefl odnent sqpreyddr Lmodmogm ﬂm&pm.sam@m L i

@ s

(€)

TGS/16 0 82
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88,

gL,

@} E&ﬁnnafd

1)
S .
i many minor and medium ports located in Tndia?
W 187 _ B 177
© 167 L

j@,{nﬂuwﬁéﬁ £iflny mﬁ@;izs. widésr m@jﬂz@ﬁnﬁéf aFmenar o ey
(A} 187 : 2 @ 177

167 @ 187

—————— Rl SR GRphE méfaauw L iug).
(A) Samdems : By pedf
(€ ombgrC @ ingeey

(&) 1872
(@ 1992

wrfe Gpmfé G Gk spsih (sipeot) sn QUi Gprdisliuc . g7
(A} 1872 @ 1982
© 1902 ' @ 1972
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nental day i celebrated on
(B) September i
(D) October 24

(B) 5;;; . TR ol T
(D) asBomur-2

93.  Which is called the “Power house of the coll”?
(A) hucleua : - B
E ol .p. o i Fury il i ﬂ)]

) Byalsioi . (8) 1aathmenfisid
©) . vl sevdrgfur (D) anntembed

94, Consider the foﬂm staterents. :
" Asgertion {A) ' Tnsectivarous plants are not able to synthesiza proteins
Keason (R) : Dmmmdeﬁmme@}ﬁm

Belmt your answer according to the coding scheme given balow.
Both ﬁA} and (m are true

{8} (B2) ies Fielle
C Ais fﬂse (R) is trus
(D) Bath (A} snd (B} are false

gmmﬁmmﬁu ")
mipp(A) s s abrggih ,srrmmﬂsm Laps punies g
angemib (R) @ wpi’ g geapum s i Lgsib SUrRES qpe wilda

e ﬁm% GpinEsm.
(A (A opge (B) sflwmemans
@) (A oA (R) peup

@ A saup R) &8

M (A wpgrd (B) seupramsos

TGS/16 24



95. ame uberty is reached sperms are manufachured eontisuously in the two testes each day.
(A 195 million (B) 120 million ‘

@ 130 million. (D) 116 million ur s

WGuiuan s Boveilia. sl sefigun. gy Ereais Sar_ine sips Gebedr e puESuTeD
© 130 Bésludmdr W) 115 Bbaudsd

96. Comsider the following statements with referencs to ozone.
(i)  Czomeis found in Trophosphbere.
(i) The mest common ozone depleting substances are freon gasos.
(i) Small amount of ozone is being made by the action of sunlight on exygen.
(iv) ‘Ozove hole’ is the real hole in the upper atmesphers.

Which of the above statement isfare correct?
(A} (), G, G, (iv) sre corvect

Z7 (i), (iii) ave correct

(@ @), ), Gil) aye covrget

M) (i) alone correct

gReman bl sufiong i il , : ) b Ay

@) v ausfinen_sidie COrduredu LgBdd srertiu G 8ps.

@ Bumdumngs m@u@ﬁ:‘n q@Goret @mom s G imuplssy Slfren aumdsserayih.

()  ysadger g mfu el Grudull Ggn iy Aflges) Gsid o HiigBun QardnGL
(W) “quiBamr Gl srem g queRioeim_egic G snem i (B gy & rampiwimen Limbser,

Cumstn_riple erg) sfiwne: spp?

B G, G, ), (v swerpgih sfumng
@ (i), (i) w5t s

€y Gy @, (i) sftumeng

@M @D o GOw #fwrens

i3 25







100,

Reawnm.} ! Ithagaﬂmmuupawhﬂchmﬁnnwmu

Belect your amswer scoarding {a the toding schemwe given below.

(A) ~ Both (A) and (R) are true and (R) is the correct explanation of (A)

(B} Both (A) and (R) are true and (R} is not the correct explenation of (A)
(C)  (A)is trug but (K) in false

y (AY in falne but (R) s frue.

SpseinL surdfliumisena: seall.

gt (Al ¢ el Gomf' ) F eeng) wewdE ey sierenes syarediiyh smel.

smyerd (R) © spand san() e seuiflefi Sererugd EenarEainigoriemb.
efirsn sl s CarEGEG.

(&)  (4) whgee &) BrenGiz i wig (R) erengy (A sfwmen eflendab

B} (A opged R} Quanud off wipd (R) sréngy (Alefpe sfliurer sllarisid sise

@ (A s ggema (B) geip

@) (A) poum it () afd

Aaanmunm) : Themrgyspentmmgm 2 specimen is not recovershle and
thmmmmhmafmwmtheﬁrmufhmt
Resson (R) :  During a cyele of magnetisation the molsculsr magnets ‘n a specdmen
gre oriented and reoriented 8 number of times,
Select your answer according to the soding schame given below.
7~ Buoth (A) und (B) are true slso (R) i the corvect sxplanution for (A)

. Both (A) and (R) are true alsa (R) is not the correct explanstion for (A)

(T} (A)is true but (B) is false

Spsov_ ansBuriismer sosefl.
gefiy () ° em Gunmdr scgaocks@bSurg Sesoud Qopereorg Geolu subpe
oy epu(dog.

st (R) mﬁgmarh spfletorg sbedter apodal STHRERET G Heruens
Guyergin b (ys Goig@eosumoa Gugaigl Usspens B ngwm

sfiarer af sk GaigGs®.

(A) A wppes (BY sf inpips (B) peng (Al sfurar eiarésd

) (A) o (B) ofl i (R) syeng) (A)elilpes #fwren el erdaid b
() (&) #h e (B) geugy

M) (A peup g (B) &f
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2016
GENERAL STUDIES
(SSLC Standard)

Time Allowed : 2 Hours| [Miahoomom Msslss : 200

meﬂommm“mmhMmmnMWMQm

IMPORTANT INSTRUCTIONS

ThmBmkﬂsthnaﬂm@hspm}wmmmmb&mdtﬂlmmwgﬂamswasmalm@m
it st the commensement of the exsmination. As scon a8 the aignsl i mosived you should tear the right
side of the hoaklet cover carnfully to open the bocklet. Then procesd to answer the guestions.

reguested to chack whether all the questions are there snd ensure there are no bleuk pages in the
guestion booklet. In case mny defect in the Question Paper is noticed X shall he mwported to the
Invigilator within fivst 10 minutss,

Answer all nuastinmg. All guestinns carry cquall merks.

You must write your Bagister Number in the space provided on the top right side of this psge. Do ok
wrike anything else an the Question Boolklet.

wadﬂﬂmenm&ayﬁwﬂeml%mbﬂ Bubject Cods, Guestion Booklet SL No. eie. with Blue or
Elack ink Dis ik pe m@dmwma@&gmmwmaomm
nmbm&tmmmmsm your Answar Sheet will not be svaluated.

Kach guestion comprises four zeaponses (A), (B), (C) snd (). You are to select ONLY ONE currect
reeponse and mark in your Anewer Sheet. I cuse you ool thet there sre more then one currect
respomse, merk the response which you conaider the beet. In any case, chooss ONLY ONE responsa for
esch guestion. Your totel marks will depend on the number of corrsct respousen marked by you in the
Answer Sheet.

In the Avewer Sheet thers are four cirdea &), @), © and(@) sgeinst each question. To answer the
queetions you are o mark with Ball point pen ONLY ONE cirels of your choics for esch queetion, Select
one responee for sach queetion in the Question Booklet and mark in the Answer Shest. If you mazk
more than one answer fir ans question, the answer will be treated =5 wrong. g, If for sny item, (@) is
the eorvect anewar, you heve tr mark as follows

200 ®

YmMMmmmWoﬁmMﬁm this Question Booklet. You are not allowed to take
mmmmmmmmm@mmmmmammw

T ahest before %Mwﬁﬂﬁ Juesting Bmkktmhemadﬁwwwsmh

Failure to complpwith uny of the abave inetructions will render you lishle to such setion or peneity e
the Commiasion muy decide gt their discretion.

Iz all mattere and in cases of doubt, the Englich Verfaion i final.
Do uot. Gck-merk or mark tho answers in the Question Sooklst.

-




